Discrete Test 3 Review

(1) Do Test 1 Review, then rework Test 1.
(2) Do Test 2 Review, then rework Test 2.

(3) Rework all quizzes, 1-9.

Given sets A = {4,7,8,9,2} ,B = {5,9,1}
N o 24 B

(4) Let R ={(7,9),(2,8),(4,5),(2,1)} Is R a relation from A to B? .
Ve

(6) Let R = {(5,9),(5,5),(1,1),(9,5)} Is R a symmetric relation from B to B?

(6) Let R ={(5,9),(5,5),(1,1),(9,5)} Is R a reflexive relation from B to B? Mo , g (q/ o()

No,  missieg (4,4)

(7) Let R={(5,9),(5,5),(1,1),(9,5)} Is R a transitive relation on B?

(8) Let R ={(5,9),(1,1),(9,5)} Is R a transitive relation on B? ) ” "d ( ’ )

o I
(9) Let R = {{(5,1),(1,1),(9,5)} Is R a transitive relation on B? NO/ al ’f”"ﬂ (‘(/ )

(10) Let R = {(7,9),(2,1),(4,5),(2,5)} Is R a function from A to B? No

28

(11) Let R = {(5,9),(1,7),(9,4)} Is R a function from B to A?

(12) Let R ={(5,9),(1,7),(9,4)} Is R an onto function from B to A? Mo

%
(13) Let R = {(5,9), (1,7),(9,4)} Is R a 1-1 function from B to A? el

(9,7,4]

(14) Let R = {(5,9),(1,7),(9,4)} Find the range of R.



Given sets A = {4,7,8,9,2} ,B = {5,9,1}

(15) Let f = {(5,9),(1,1),(9,5)} and g = {(5,1),(1,1),(9,5)}.
Find the composition fog g(gll )/‘ (l)})}(ﬁﬂ)}

(16) Let f = {(5:9)) (1) 1)1 (9)5)} and g= {(5) 1)7(1a 1)7 (9)5)}'
Find the composition g o f {(5‘}5)/(,,’); ((1,’>}
§

(17) Find the number of functions from A to B. 3

Y

(18) Find the number of functions from A to A. &

P ¢

(19) Find the number of functions from B to A.

(20) Find the number of 1-1 functions from A to B. O

sPy = $4-3 =40

(21) Find the number of 1-1 functions from B to A.

(22) Find the number of 1-1 functions from A to A.

27 =2

(23) Find the number of relations on B.

234 6
27 =2
(24) Find the number of symmetric relations on B.
3-2 6
(25) Find the number of reflexive relations on B. 2
l.2.
132
pi

(26) Find the number of both reflexive and symmetric relations on B.




|

| Teaz 3 Review Lner

—|| Definitrony: Qe,(ovHows

/ e
'¥unc4~.0"u H’;-F(eyw‘ﬁ\ \

£y e )
/ \ S /mm, L +VuMI;""\/_‘_€/ : 1
I—’ OV!'I'D \ / /
N7 7 —
\"O')LL ALy g C?V'W\{ehce balle,
o : / £

—kerrhidy

S| Covntiny [AxB|=(A) (8] ; [Py | = Dn ]

[{ieT) AI S
s Reluws A+ 8] = 20" l 2e(mnx aAS).c i
Y
I Re“uive el atovony °.‘"A o Q_MIUF“"U - 1
_!-"-‘”l/'I'}\l- =)
f)z e it rea oy S J & 22!,'1 (INT+77

Z—}!A\"(/AT =T)

RQF/C)(NQ, QM(L f)’”“‘w&"‘r“;c )"Q_(Q‘HDV‘/ o /,\, l s

! Funcbwy A 4o | = /Bl’Al y
0 |Al>[g]
I _1’.1. '}Lw\u‘\\m; At ons = Z !E{PM]’L (/b(lél?/

| bigeckon A o g} & ;u,ww&h-—- .8
kA= 5l
wIb)
AT
e e

)‘l‘\)w W\av\)/ (uLth o{ EO/ ’/ 2/ 2, q; ;} ”F !;%e i_? | ff:-_j?’_-_a—:_l_ Y




